6.5 Scalar Product
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Scalar Product of Vectors 1 and v
-V =[d|-[V]-cosb,

where 6 is the angle between vectors u andv.

Figure 82.

Scalar Product in Coordinate Form
Ifi=(X,Y,Z), v=(X,,Y,,Z,), then
u-v=XX,+YY,+ZZ,.

Angle Between Two Vectors
Ifi=(X,Y,Z), v=(X,,Y,,Z,), then
XX, +YY,+ZZ,

\/XIZ +Y +2; \/XZZ +Y, +Z,]

cos0 =

Commutative Property
u-v=v-u

Associative Property
(M) (uv)=hpud-v

Distributive Property
i-(V+w)=t-v+i-w

cl

-v=0if u,v are orthogonal(ezg).

ﬁ-fr>0if0<6<§.



581. ﬁ-\?<0if§<9<n.

582. u-v<[d|-[v]

583. ﬁ-\7=|ﬁ|-|\7 if i,V are parallel (6=0).

584. If i=(X,,Y,,Z,), then
wa=w =i =X"+Y +2 .

585. i-i=j-j=k-k=1

586. i-j=j-k=k-i=0



